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MATHEMATICS-II
fruffaam: 392 [TRreaw 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
Fe: () FA-FA AT Heaad
Note : There are THREE sections in the paper A, B and C.
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Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

AT & 3 8 yvI 7 @ f58T 6 ¥ & FoK T | Y% F97 3 3k T 8 0F
FTFTS ET / 50 ) 7 IR Hforg |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

dFT & > 6 T 7 @ 8T 4 T & IR HIT | AT F97 8 3% FT 8 T
37HT 15 T / 150 9G] 5 3¢ e /

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

Y% QF F G} F99) H) FHAR T GTY FT HIAQ |
Solve all the questions of a section consecutively together.
g1 aTwIsT 7 3R 817 B R 7 3 e & AT |
Only English version is valid in case of difference in both the languages.
¥RA - Y
SECTION - A
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(a)
©

The value of determinant

2 (b) 22
=3 ' d -22
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© -2 d -22
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2.3 ‘&
(i) W@ [1 2 o FEAEM
2 ) &
(@ 25 ® 0 ) 17 d -25
3 34
The value of determinant |1 2 0
3.3 A
(@ 25 CNE o () 17 @d -25

(@) .secx+c (b) tanx+c (¢) tanx—x+c (d tanx+x+c
The value of Itanzx dx

(a) secx+c (b) tanx+c ‘(c) tanx—x+c (d tanx+x+c
% 4
(iv) mwﬁaﬂwi‘—%u(ﬂ) = tan x %1 5H7 BT
dx dx
(@ o (d) 2 fedn 4 @ 1
The order of differential equation ﬁ + -‘11)4 =tan x
& " N

(@ o (b) 2 () 4 @ 1
W) @ y=x+1 &1 yaorar Bift

(@ 1 (® 0 (© 2 - SR

The slope of the line y = x + 1 will be

(@ 1 ® 0 . @@ 2 @ -1
(vi) x2+y2=12x T %5 B

(@ (0,0 (®) (6,0 (© (0,6) @ (-6,0)

The centre of circle x + y2 = 12x is

@ (0,0 (®) (6,0) (© (0,6) (d (-6,0)
(vii) @few 27 + § — &k =1 afmmor g

@ 6 ® 6 © F @ 4

Modulus of vector 2] + j\ B

@ 6 ® 6 @ 3 @ 4
(viii) afE afem 21 + § - ak qer 1+ 1] + k o= @ A A w1 Hm A

(@ 2 ®) -2 A - @ -4

g’he vector 21 + J —4kand 7 +2] j+ k are perpendicular to each other then A will

e

) -2 -2 ¢ 4 d@ -4
(ix) frg@,2)w@ 4, 2)%*«‘13%{8@7&
(@ 3 b 2 () 2 d -5
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The distance between the points (1, 2) and (4, 2) is
(@ 3 (b) 2 ) =2
(x) @1 5x -2y + 7 = 0 % Swaraq {@n ! yauran g —
5 2

®).5% - A () 5

Slope of the line which is perpendicular to line 5x —2y +7=0is

5 =3
(a) ) (b) - © 5
A —
SECTION - B
wator R fom farg hifoe

Without expanding prove that :
xX+y y+z z+x
z x y |=0
1 1 1

dx
fﬁmmmml
SiIn" " xCos X :

dx

Find the value of J 5
sin“x cos

2y

dzy
T Hifog a—;=ex’y +x2e”

2
Solve : %;Zi =e* Y +x2eY

39 T X1 1 GHIH T Hi S R (3, 3) 71 (7, 6) AR |

Find the equation of line passing through the points (3, 3) and (7, 6).

afew § - 25 + sk qen 1+ 2 — k % e g wfem @ il -

R . AoaA AL A
Find unit vector perpendicular to vector i —2j + 3kand 7 +2 J - k.

T HIT
Find the Integral :

flogxdx

farg (2, -3) v @ 3x + dy = 6 T ST TR T <hY TS T HHIT |

-2

2053

(1x10)

(&)

(&)

(€))

(&)

(©))

&)

Find the length of the perpendicular drawn from the point (2, —3) on the line 3x+4y=6. (3)

P.T.O.
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9. Fax2+y2+3y—4=0%fg (2, -3) W waet Y@ H1 gl yma A |
Find the equation of the tangent to the circle x2 + y2 + 3y — 4 = 0 at point (2, -3). 3)

Y - o
SECTION-C
10. T wefteror frerr = e o @ vt Hifd
Solve the following system of equation by Cramer’s rule :
x+2y+3z=6
2x+4y+2z=7
3x+2y+9z=14 )

11. e ¥ Hifdm

Solve the integral :
f xe* dx ®)
(x+1)?
12. Thif:
Solve :
(1+x?) i;¥+ny"--'cosx ®

13. 30 T Ya %1 wefieor wa AR S g (4, 5) A B ot & aeer Y 2x - 3y - 5 =0
Faam R |
Find the equation of a line passing through (4, 5) and parallel to the line 2x — 3y-5=0. (8

14. forg e % frmr am g woeefia d
41 + 87 + 12k, 21 + 4 + 6k, 37 + 5] + 4k @@ 57+ 8] + sk @®)
Prove that the following four points are coplanar :
41 +85 + 12k, 21 + 47 + 6k, 37+ 5] + ak and 57 + 8] + sk

15. 38 g %1 wieor wa Hifdrg st Fr g @ oran 2
(1,2), 3, 4) @ (5, 6)
Find the equation to a circle which passes through (1, 2), (3, <4) and (5, 6). ()




